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ROUNDING DECIMALS

WHOLE
NUMBER

TENTHS HUNDREDTHS

& 9.626
6.7431
5.972

0.7391

8.9021

1.187
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REVIEW: Adding and Subtracting ~ MNeme
Integers

~ Key Concepf and Vocabulary . Visual Model

mms) (5n ) 2 |
Add and : e number, move to the right.
‘ To add a positive 5
o -5 +8=3
0

e IO TN s T3 ER N AN PRV RN S A MWV AT RS0
!

(1 + (-— 2) =4 ’ e
| { ﬁ_ﬂ'__+__.+___‘—+—>
'i“(‘:”_m e A Y o SR
| |
‘ ‘e'msj | d"fe’ence To subtract a positive number, move to the /eft.
& il
: Skill Examples Application Example
; 1. 5+(-3)=5-3= 6. The temperature is 8°F in the morning and
| | S _ drops to —5°F in the evening. What is the
2.9 (CE "o Te "‘\-\_ difference between these temperatures?
3.2+ 4 =2 T Yo subtract, | 8- (-5)=8+5
4. -3-(-2)=-3+2=—]< change the ~ 13
| 5 g A AL _—{ sign and add.)
. - (—3)=01+3= _>s.. k. . . :
| ) .:+ The difference is 13 degrees.
- PRACTICE makes PURR-FECT " /) _
- Check your answers at BigldeasMath.com
Find the sum or difference.
7. —2+3= 8. -4-5= 9. 8-2= 10. 8 — (—-2) =
| 11, —4—(-1) = 12, -5+ (=5) = 13, 4 — (—-8) = 14. 4 — 8 =
15. —4 + (—6) = 16. —4 —(—6) = 17. 10 — 13 = 18. 13 — (—10) =

J | Write the addition or subtraction shown by the number line.

)
| 19. M' 20. 'M
' .
-9 =4 =3 =Q=] 0 1 7 QTR ERAY BT -5 -4 -3 -2 -1 0 1 2 3 4 5

21. T EMP.ERATURE The temperature is 16°F in the morning and drops to —15°F in the
evening. What is the difference between these temperatures?

22. SUBMARINE A submarine is 450 feet below sea level. It descends

300 feet. What is its new position? Show your work. w

— —— o — —— —— - — -
- -~ —
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REVIEW: Multlplylng and D|V|d|ng Name
Integers

~ Key Concept and Vocabulary -, Visual Model

factors | p'OdU(U Muth

—~_—— v —— and 'v' y o | = i .

! : 1 dwvi €. ‘ ‘ ._,_(~_Z) e (~2J "”2] . [-2J
i ’:

—'1.3 ‘(—3): ! —— + , 5 Baice “** 4
| A | - A:__ ‘ | 9 8 od 4 6 S -4 3 2 ] 0 :
dividend ; divisor ) \quotient) |
\
skill Examples Application Example .
1. =3+(-4) =12 < samesign, product 6. Each of your six friends owes you $5. Use |
5 —36 = (—6) =6 <« and quotient positive Integer multiplication to represent the total |

dmount your friends owe vou.

’ : R N 6+(—5)=-30 ,
4. —10+5=—2 <« different signs, product | N The total .
5 —5.6=—30 <— andquotient negative J 1€ total amount owed is $30. .

Find the product or quotient.

7. -3X(-5)= 8. 7(-3) = 9. 0+(-5) = 10. (=5)(=7) = | .

11. -8 02:_ 12. (_5)2;-_ 13. (__3)3___ 14. 4(_2)(-3)= ' g
|
15. -16+4 = 16. =20 = (-5) = 17. :'_9_._. 8. =<0 _ ]
P X PR R e -10 —— |

Complete the multiplication or division equation.

19. -15+ -3 20. 45 =+ = =3 21. +(—=20) =5

22. 8 . - —-64 23. « (-—9) = 27 24. ""12 e — "‘96

25. TOTAL OWED Each of your eight friends owes you $10. Use integer multiplication to
represent the total amount your friends owe you.

r—

26. TEMPERATURE The low temperatures for a week in Edmonton, Alberta are —15°C,
~12°C, —=10°C, —12°C, — 18°C, —20°C, and —25°C. What is the mean low temperature

lor the week? Show your work.

P—

PR—
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Answer the questions below!

1.

A e e e o R am—

Order Of Operations

Name

Rules :
Parentheses
Exponents

7+3x5= A

F e

35+ 5x4 =
12+8+2x6=
16x(3+1)-29=
3°+28-14=123
4x(5+6-3)=
38-8+4+12=

48+ 6x3+ (14-12) =

28+ 57 -17=

20+ (8-5)°x3 =

1.
12.

13.

14.

195.

16.

17.

18.

19

Class :

Multiply and Divide (from left to right) .
Addition and Subtraction ( from left to right)

2?x16-(32+22) =
40 —32 + 22 =

27 +3x2+ 13 =
70=7:x:(4=1)% =
25-6x2° =

45+ (10-5) x 3 =
6x8-11+(16+2) =

(12+13)x5-20=

(7 +8)+(25-22) =

18+6x2-22=

hemBh A B e L TR g WE A e R e T R e N L B T R B R ——
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REVIEW: Simplifying Expressions

~ Key Concept and Vocabulary —

TR e B R B BN RGN LA X M TV AL TS U oA TN NG R I e L TN T N N s (M s N S

Visual Model

uombme variable terms) é',';'rﬁm"ngs
T

\J Y

C EE

g\+443\-1*5\+3 ,,,\g -‘_"J_‘U
L/J
L Combme numencal termsj &
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21.

70

4. 2(y—1)+3(y+2)=5y+4

PRACTICE makes PURR-FECT",

Simplify the expression. (Remove parentheses and combine like terms.)

6.
8.
10.
12.
14.
16.

5. The original cost of a shirt is

for 30% off. Write a simplifed
expression for the sale cost.

4x + bx = 7. 3n+S5=2n=

9x +3—6x—-2= 9. 3(x+2) =
7m—2m+5m = 1. 2~ (x+1)=

(3x +6) —x= 13. 5—(1—n)=

(x +6) = (x+6) = 15. dx-2)+3(x+1)=
Gx+4)—2(x+1) = 17. S(x+2) - 2(x+2) =

1x

8x

Perimeter = Perimeter =

R

The original cost of a cell phone is x dollars. The phone is

on sale for 35% off. Write a simplified expression for the
sale cost,

Skills Review Topic 17.3

Algebra Tiles

Application Example

.

Skill Examples
1. 2xiddx = 7x « dollars. The shirt is on sale
2. 1+ n+4=n+5
3. 2x+3)—-(x+2)=x+1 xr—03x=0.7x

The sale cost is 0.7x.

EErE=>" Check your answers al BigldeasMath.con!. e

N —— . — W  —— 4w &

Write a simplified expression for the perimeter of the rectangle or triangle.
18. ’

21x »

Perimeter =

C
Copyright © Big Ideas Lea 9.
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Distributive Property Practice |
E .'".
Simplify each expression using distributive property. t
| 3(4x + 7) : 4(6m — 4) ‘ — 11(4y = 3) i
| Aoyt 12X B2 mee 2dmZllon . ue gy +23
é

|

52y — 7) j 12(4x + 1) ; 8(10 — m)

b ® Ry Pad O PR AT A LI O N

— 23k + 6) 3(5 — x) — 3(8h + 7)

6(— 4 + w) 1 - (4x + 3) ' 11(2x + 4)

9z 3) ‘ 950 =7 2(8x + 4)

— 10(4y — 8) — 7(7x + 2) 5(6 — 3x)
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Name: Date: -

COVBINNG Like TORW)S

Directions: Sinmplity each expression by conmbining like terms.

#3 24+ 3x-Ux+6

6X + 2(X + U)

#/  3(x+5)-10
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SOLVING One-steb EQUATIONS

?

Solve each equation. Shows d vwork and chack your anaa
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6.X/7=9

8. X(12)=108
9. X(10)=90
10. X + 19=%2

7 &

17

X +9=12
3. X +17 =40

¥.2X(4)
5.X/8

Ne
1.

iy |
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17. X(11)= 121 17. X/6=5% @S

ﬁ‘“c‘-" ‘q'.a.l

& R ol —l 8 s ™ -
X?.!’? -: - : - -.a v s a 3

™
s

18. XC + 58= 107

12. X - 7100=1700

-~

F - - N
- .

T',.. L,

2y W Y

. J(-\..‘ - -4 T}
‘n“o v g A ‘ofr-; ~ L >

13. X /1=13

PR | Rag)

' Sttt wie
:.nﬁ'l“— ‘. “ > "

- .

o J - i.
Ao..'t;-—~-0h! 0.

1%. X(8)= 2% 20. X(6)= 24

RO N L AT RN A S PR )

15. X'+31= 99 27. X - 23=39

16. X — 116= 22] 22, X /9 =72
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